Ree. No. FY-446

Name :

FIRST YEAR HIGHER SECONDARY EXAMINATION, MARCH 2023

Part - III Time : 2 Hours
COMPUTER APPLICATION  Cool-offtime : 15 Minutes
(COMMERCE)

Maximum : 60 Scores

/ General Instructions to Candidates : \
® Thereis a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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10.

11.

Answer any S questions from 1 to 6. Each carries 1 score. 5x1=5)
The base of hexadecimal number system is
(2, 8,10, 16)

Pick the full form of HDMI from the following :

(High Definition Multiple Interface, High Definition Multimedia Interface,
High Definition Multimedia Internet, High Definition Media Interface)
Name the error which is due to improper planning of the program’s logic.

The multiple use of input or output operators in a single statement is called

Write the keyword which is used to create symbolic constants whose value can never
be changed during execution.

Which among the following is not a search engine ?
(Google, Bing, Ask, Mozilla Firefox)

Answer any 9 questions from 7 to 18. Each carries 2 scores. 9x2=18)

Convert as directed :
(@ (38)10 = (?)2
() (AB)16 = (?)8

Write a note about Unicode.

List and explain the four freedoms for free and open source software defined by Free
Software Foundation (FSF).

Explain any four advantages of flowcharts.

(a) Define Coding. (1)
(b) The program written in any HLL is known as . )
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1 aves90 afloo. (5x1=5)
1. 920800 acwaiiacd mmid milquasilead miay’ @yem.
(2, 8, 10, 16)

2. @y oamidesmmaidioc: HDMI @)6s andgnojato Gloasoms) e :

(High Definition Multiple Interface, High Definition Multimedia Interface,
High Definition Multimedia Internet, High Definition Media Interface)

3. oWl EBIOOSs H®YIVW GRHAVY@EMo ARIAKMEBIRIAN alldHM Cald
M@ID) .

4. &g aVegEeamdlad Mg GREOLIBIT BV3alg 3a]c0gdadeles sarlelwidoe
DalcINOBD AElEMNING @RYem.

5. a) BTSNl qVAOD A)eljo AIQIWB HFIWICT ([ IGTHOCAH TuClEoB6BU3
VLY EHIMB DalCWIUTLNAN BIEAIAL af)P)®)db.

6. @36y ®aTElenMMAIVIE3 HAVABa ag)a3e 103 GREJITI® aB® ?
(Google, Bing, Ask, Mozilla Firefox)

7 2)®@3 18 210088 ¢2103BE108 ago®BIENe 9 Af)FROTIM DCNONAN@) .
2 quea»08 alloo. (9x2=18)
7. @lBc3uUdla (113000 20Q)c !

(@) (38)10 = (?)2
(®) (AB);s=(")

8. @pmledoauflom ¢dla] 80} ddlaj af)®)@)d.

9. IO cIVaNQeAIWA anveaeauad (FSF) alldgafllemmm aui@@m &9qjem
GAVLIYIY EGILOANGHAIVOIM)BE MILT TVIGNEBUD LAY 61210 0 N0oElB:alH6)H.

10.  aNG8021085)3:3)0S a@o@s1ele MLl MU AfluoBlBdlBe) M.

11. (@) cadaleuilom aldq)allea)s.. (1))
(b) ogoomslen. HLL-@3 af)9)@lw ¢eiowdoe af) MA@ S)aM). (4]
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12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

Pick the invalid identifier from the following list and give reason for invalidity :

(world_cup, world.cup, world cup, 2worldcup, break, worldcup2022)

Given x = 6, y = 3. Find the value of z in the following expression :

z=5+£
y

List any four relational operators in C++,

List any four guidelines for coding.

Explain the working of if ..else statement in C++.

Explain the difference between hub and switch.

Write any four advantages of e-Business.

Answer any 9 questions from 19 to 29. Each carries 3 scores.

Explain any three advantages of Computers.

(a) Whatis e-Waste ?
(b) List the four e-Waste disposal methods.

Draw the flowchart to find perimeter of a rectangle.

(9 x3=27)

)
@

Categorize the following token and fill up the given table by placing them at the proper

places :
(93.5, “Football”, +, float, long, %)

Keywords Literals Operators
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@OAVLIWANMBS B3,006Mo MBI :

(world_cup, world.cup, world cup, 2worldcup, break, worldcup2022)

X =6, y =3 O@RBHNENIN). @IOY alO@IAN  af)@H0TValat @3

BHETROTD :
y

CH++ @8 apo@®i]e1)0 ML OlERIauM@3 830q]C0g0)H08 Llqy ealQ)d.
cUoUIMIV] aBO@B:EN0 MLl BBV INBE3UEBU3 LY 61 1Y .

CH++oelif.. else cquooandlomd @1018TmMo AlUoBAIGH) .
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z 00 mello

19 2)®@3 29 2190W)BH ¢20EEBSEI03 aBO®BSIENC 9 af) JROTIM POMOOAN ).

3 ave®»IAd afloo.

BoMINGOBBIOS afO®EILN MAN 1)EMEBUS AlUdBAIGN ).

(@)  af)aoem gn-moelmyio ?

(b) moei'm-noemy ME23LRM B BHUD alGldHe1a|SIOTD.
830} B30l 2 13OOTIONG 2 NGBAT HOMBOMINE OBH aNEBI2108 AUODE).

@06 al0oW)aM LAY ®0o @Gla @OMECWILIAIW CHRHIBEBHEI3 af)$)@)D :

(93.5, “Football”, +, float, long, %)

Keywords

Literals

Operators
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23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

Explain any three fundamental data types in C++.

(a) What is type modifier ?
(b) List the four types modifiers in C++.

Write the syntax of switch statement in C++.

Consider the following URL and classify the different parts of the URL.

https://hscap.kerala.gov.in/student_status.php

Explain any three advantages of using e-mail.

Explain the different classification of social media.

Explain any three e-learning tools.

Answer any 2 questions from 30 to 32. Each carries S scores.

List and explain any five input devices.

Consider the following C++ code
int n=1;
while (n<=10 )
{
cout<<n<<™\t”;
n+=2;
}
(a)  Write the output of above code.
(b) Identify the loop elements of the above code.

(c) Convert the above code using for loop.

(a) List the various types of guided communication channels.

(b) Explain any one guided communication channel.
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23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

C++ o1 aga@®slene @am @RSIaunom wag @oeBud Alluodld:dlos)d.

(a)
(b)

00Sa] cRWla0®@A af)a»EM ?
C++ el moel 96 Sq] c20UWlanWAHHUB LITY §a1Q))d.

C++ el avllaf equaeaadlond Q@ PLISM af)P)@)d.

@oey @aidlea)m  URL aidlwemlens®pe URL e allallw gownemdd @o

OB H9)DH W0 B2l dh.

https://hscap.kerala.gov.in/student_status.php
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(b)
©

(@)
(b)
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int n=1;
while (n<=10 )
{
cout<<n<<™\t”;
n+=2;
}
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